Online MAC 1140
Sample Questions for Test 2 
NOTE: These are just sample questions, and do not include all the competencies tested on Test 2. To be prepared for Test 2, you must review all the competencies for this test and practice all the problems stated on the “Topics” link found here in BB.

Answer without the use of the graphing calculator. The answers have an asterisk.
1. Solve the equation by factoring:  8x² – 10x = - 3


a.  -1/4, 3/2


b.  - 3/4, - 1/2


c.  1/4, - 3/2


*d.  3/4, 1/2
2. Solve for x by using the Square Root property:  
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3. Solve  
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 for x, by using the Quadratic Formula.
a. 
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*d. 
[image: image10.wmf]315

2

-±


4.  To solve  
[image: image11.wmf]2

263

xx

+=

 for x, by completing the square, the first step is to add to both sides 
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a) True 


*b) False

5. Multiply and simplify:  (2 + 5i)(2 – 5i)

a. -21

b. -6

c. 9

*d. 29

6.  Simplify 
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a. 
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7. Find the x-coordinate of the vertex of the parabola y = 3x2 – 18x – 22.


a. -22
b. -6

*c. 3

d. 9
9.  The parabola y = -x² + 40x – 150 opens down and has y-intercept (0, -150).


*a. True


b. False

10. Solve the inequality 
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a) 
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b) 
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e) None of the above
11.  The vertical asymptote(s) for the function 
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a) True




*b) False

12.  The slanted asymptote(s) for the function 
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a) True




*b) False                 
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